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M. Com. (First Semester)
EXAMINATION, Dec. - Jan., 2021-22

Paper Third
INCOME TAX LAW AND ACCOUNTS

Time : Three Hours [Maximum Marks : 80]



Attempt all sections as directed.



Section - A



(Multiple Choice Questions)

(1 mark each)



Attempt all questions



Choose the correct answer

P.T.O.
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1. 

(A) 

(B) 

(C) 

(D) 

In whose control Income tax department works -

(A) State government

(B) President

(C) Central Board of direct taxes

(D) Income tax commissioner

2. 


(A) `

(B) `

(C) `

(D) `

Income tax exemption limit for senior citizen tax payer for
assessment year 2021-22 is -

(A) `2,50,000

(B) `3,00,000

(C) `3,20,000

(D) `5,00,000
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3. 

(A) 

(B)  

(C)   

(D)  

Sum of various heads of income is called -

(A) Taxable income

(B) Total income

(C) Gross total income

(D) Adjusted income

4. 

(A) 

(B) 

(C) 

(D) 

It is exempted income -

(A) Dividend from Indian company

(B) Interest from Indian company

(C) Dividend from foreign company

(D) Co-operative dividend

P.T.O.
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5. 

(A) 

(B) 

(C)  

(D)  

Company may be -

(A) Resident

(B) Non - Resident

(C) Not - ordinarily resident

(D) Resident or non-resident

6. 

(A) 

(B) 

(C) 

(D) 

Taxable for not ordinarily resident will be -

(A) Income accured in India

(B) Income received in India

(C) Foreign business  Income controlled by India

(D) All of the above
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7. 

(A)  

(B)  

(C) 

(D) 

Salary for deduction of entertainment allowance means-

(A) Basic pay

(B) Dearness pay

(C) Commission on sales

(D) All of the above

8. 

(A) 

(B) 

(C) 

(D)  

Pension on retirement is -

(A) Exempted income

(B) Taxable income under salary

(C) Income from other sources

(D) Casual income

P.T.O.
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9. 

(A)    

(B)   

(C) 

(D) 

Municipal tax allowed as deduction-

(A) Tax for the current year

(B) Tax for the previous year

(C) Tax paid during the previous year

(D) Tax paid by the tenant

10.      


(A) 

(B) 

(C) 

(D) 

An assesse may choose how many houses as self-
occupied for exemption ?

(A) One

(B) Two

(C) Three

(D) No limit



[7]

F - 103

11. 

(A)  

(B)   

(C) 

(D) 

Disallowed expenses while computing business income-

(A) Building rent

(B) Building insurance

(C) Building repairs

(D) Improvement of building

12. 

(A) 

(B)  

(C) % 

(D)   

Preliminary expenses is written off -

(A) Whole amount

(B) 1/5 th part per year

(C) 25% per annum

(D) 1/10 part per year

P.T.O.
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13. 

(A) 

(B) 

(C) 

(D) 

Capital gains arises -

(A) On business capital

(B) Transfer of capital assets

(C) Stock in trade

(D) All of the above

14.  

(A) 

(B) 

(C) 

(D) 

Capital gain on depreciating assets will always be

(A) Short term

(B) Long term

(C) Tax free

(D) None
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15. 

(A)  

(B) 

(C)  

(D) 

Interest from tax free Government Securities is made -

(A) Gross-up

(B) Net up

(C) Not included

(D) Included as it is

16. 

(A)  

(B)  

(C) 

(D) 

Unabsorbed depreciation can be set off to the extent of -

(A) 4 years

(B) 8 years

(C) No time limit

(D) Never

P.T.O.
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17. C

(A) `

(B) `

(C) `

(D) 

Maximum deduction allowed u/s 80C  -

(A) `50,000

(B) `1,50.000

(C) `1.10,000

(D) Whole amount

18. 


(A) 80 D

(B) 80 G

(C) 80 E

(D) 80 C

Under which section of the following an HUF is not en-
titled to deduction from its gross total income -

(A) 80 D

(B) 80 G

(C) 80 E

(D) 80 C
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19. 

(A) 140 A

(B) 143 (1)

(C) 143 (3)

(D) 144

Sections of self assessment is -

(A) 140 A

(B) 143 (1)

(C) 143 (3)

(D) 144

20. 


(A) 

(B) 

(C) 

(D) 

Maximum number of members of Central Board of di-
rect taxes is -

(A) 4

(B) 5

(C) 6

(D)  No limit

P.T.O.
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

Section - B



( Very Short  Answer Type Question )

(2 marks each )



Write answers of any eight questions from this section
in two or three sentences.

1.    

Define the term "Previous year"

2. 

Who is ordinarily resident ?

3. 


Who is specified employee according to the income tax
Act ?

4. 

Explain assessing officer.

5. 

Define 'Dayabhaga School of Law'.

6. 

Distinguish between total income and gross total income.
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7.        


State those two offences which make a person liable for
prosecution

8. % 


Write four such donations for which 100% deduction is
allowed.

9. 

Explain same head set off

10. F

Explain section 54F .



Section - C



(Short  Answer Type Questions)

(3 marks each)

 


Attempt any eight questions. Each questions
except numerical nature is to be answered in
about 75 words.

P.T.O.
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1. 





           

   

An Indian citizen and businessman Mr. Vinod who resides

at Indore, went to Germany for the first time for employ-

ment purpose on 5th August, 2020 and came back to In-

dia on 31st October, 2021. Mr. Vinod has not been out of

India in the past. Determine the residential status of Mr.

Vinod for the assessment year 2021-22

2.     `   

̀ 

`

    `    ` 

     

An assesse constructed a house on 1st January 2019 at

the cost of  ̀ 1,50,000. In 2019 he spent  ̀ 30,000 for its

improvement. He sold the house on 1st October 2020 for

`3,00,000. Brokerage paid `20,000 and other

expense were  `10,000 in respect of sale Compute

capital Gains.
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3. 


1.    `

2.  `

3.   `

4.  `

     

The following particulars of income of Mr. Tripathi are given
for the previous year 2020-21

1. Gross receipts from salary `

2. Loss of self occupied house property `

3. Long term capital loss from sale of shares `

4. Income from profession `

Compute the gross total income

4. 
`  

``
GG 
 

Mr. Rajendra resides in a rental house in indors for which
he pays rent  ̀ 7000 per-month. During the previous year
2020-21 his gross total income is `3,66,000. He paid
`2000 for medical insurance premium, Compute deduc-
tion under section 80GG in respect  of rent paid

P.T.O.
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5. DD   

Describe the deduction u/s 80 DD.

6. 

How is residential status of HUF determined ?

7. 

Define best judgement assessment.

8.  

Write a note on 'Revision by Commissioner'

9.   

(i) ` 

(ii) `

(iii)         
 ``

(iv)  `        
  

Mr. Vimal made following expenditure  in cash on
25th June 2020-

(i) Purchased raw material from a firm for  `26,000

(ii) Purchased stationery for  `8000

(iii) Gave `5000 in the afternoon and `5700 in the
evening to an engineer for machine repairing.
State the allowed and disallowed amount of cash
payment.
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10.    


Explain ‘ Interest on securities’ under income from other
sources.



Section - D



( Long  Answer Type Question )

(5 marks each)

 


Note : Attempt all questions. each questions except
numerical nature is to be answered in about 150
words.

1. 

Discuss the procedure for filing an appeal to the
Appellate tribunal

(Or)

        
 

Write a brief description of exempt incomes under Income
Tax Act.

P.T.O.
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 
      
`%
%`

`
`
    `     
`


%

``

`

       
      
         `  
  

Mr. Rathi was retired on 1st December 2020 from SP
Textiles Pvt.Ltd. Indore. His salary was ̀ 19200 per month
on 1st January 2020. He also got  20% D.A. and 10%
House rent allowance of salary. He lives in Indore in a
rental house at  `6000 per monthly. He got pension
`6000 per month after retirement. On 1st January 2021
he received `1,62,000 lump sum for 1/2 pension com-
muted. He also got `228,000 as a gratuity. He received
`90,000 for encashment of earned Leave for 4 months.
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He served for 22 years and 10 months in the company.
His contribution to RPF was 14 % and the company also
contributed the same amount . He received `4,80,000
from his fund on retirement `1,80,000 interest was in-
cluded in the fund.

Travelling expenses ̀ 3600 were paid by company to go
to his home town Bhopal with family after retirement.

Compute his income from salary for the assess-
ment year 2021-22 payment of gratuity Act -1972, is not
applicable on SP textiles. Professional Tax amounting to
`1,200 was deducted against his salary.

(Or)


```
`
`  `     
    


        
`

Mr. Vibhor has three bungalows. Municipal valuation of
the bungalows are ̀ 4,50,000, ̀ 5,00,000 and ̀ 6,00,000
respectively. Interest on loan taken for construction of
these houses are ̀ 90,000, ̀ 180,000 and ̀ 1,20,000 per
annum. These houses have been used by assesse and
his family members for his residence which house should

P.T.O.
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be choose as a self residential house for Income tax pur-
pose ? The houses were completed in 2008. Give your
advice in respect of assessment year 2021-22. He has
income from other sources `7 lakh.

 
`
          
`  
`

  `       
%
     

Mr. Deepak gupta furnished the following information

He built a house in 1998 at the cost of `3 lakh for self
residence. On 1st August 2020 he sold this house for
`12,50,000 and purchased a new flat on 1st January 2021
for `1,20,000. Stamp fee paid ` 6000 for registration.
He paid 2% brokerage on sale and purchase of property
during the previous year. Compute his tax free and tax-
able capital gains with working note.

(Or)




Write 10 examples of income from other sources. Which
deductions are allowed in this head? Explain in detail.
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 
       

 `

 `

   `

   `

 `

 `

 `

From the following particulars compute the total income
of Mr. Madhukar (Senior citizen) for A.Y. 2021-22-

Received from house property ` 

Income from business ` 

Short term capital gain ` 

Long term capital loss ` 

Interest on bank FDR (Net) ` 

Interest on saving bank deposit ` 

Dividend  from co-operative society ` 

(Or)

    


Discuss the basis for assessment of Hindu Undivided
family.


